MAT 011, Equations of Lines in 2D, Part 3 (3.5) Name Kt'\r

1. Use the s[ope-in{cercept form to graph the lines.
a. y= %x +5

b. 4x—7y==-14 “Fy=duo s Eute
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2. Write an equation of a line with given slope and y-intercept.

a. m=5b=3  yz Sxt3

b. m=_4,b=‘%_§ ),._._qr._i,

. m=§,b=o y;%\c

!

3. Writean equatio‘P of the line with given slope passing through the given point. Begin in point-
slope form y — y; = m(x — x,) and solve the equation for standard form Ax + By =C.
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5. Find a line parallel and a line perpendicular to the given line pass
a. y=5,(1,2) %:2 ; X={ 3

b. x=-3,(-25) | X=-2 !
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6. Sales of hybrid vehicles have been decreasing. In 2007, 356 ithousand new hybrid vehicles were

in the US. In 2009, only 290 thousand were sold. Write an ejquation describing the relationship
between hybrid vehicle sales and time. Use points of the fojrm (year, number of hybrids sold). If
the trend holds, how many hybrids will be sold in 2016?
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Y= “33(%65*%?8* = -SQM

7. In 2006, the US population per square mile of land area was 85. In 2011, the same figure was
88. Write an eqﬁhation describing the relationship between Aersons per land area and time. Use
ordered pairs ofithe form (years since 2006, person per square mile). How many people per

square mile would this equation predict in 2020?
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8. Foreach equatioln, state which form of a line it is.
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